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e A person pulls down and out on the end of diving board with a force of 50N at an angle of 20 as
shown below. The lengths of the board are indicated in the figure Calculate the torque vector of the
person on the board around the pivot - indicate the magnitude and direction.

e A rod is spinning around its end as shown below. The rod has mass M = 0.2kg and length L =0.5m.
Determine the moment of inertia from the supplied table copied from pg. 304. If the angular speed is
2 rev/s determine the angular momentum.
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